





Question 1.
Calculation of the Value of the Firm
: ; Rs.
EB.IT. -~ 1,50,000
(—) Interest on Debentures |6,00,000 X 110(:] | * 60.000
Earnings available for equity shareholders (NI) 000 '
Capitalisation Rate (Ke) - : 12-5%
Market Value of Equity (S)'= ﬂ el N 720,000
12:5% e
Market Value of Debt (B) 6,00.000
Total Value of the Firm (V) = (§) + (B) ' 1320000
Overall Cost of Capital (Ko) = E%IT X 100
_ 150,000 ARa
= 13.20,000 X 100 = 11:36%
Question 2. ,
Calculation of the Value of the Firm
- Rs.
EB.ILT. 1,50,000
(=) Interest on Debentures (7 00,000 X "1!0%) 70,000
Earnings available for eq‘uity shareholders (NI) 80,000
Capitalisation Rate (Ke) : : 12:5%
; I 80,000 X 100
_ Market Value of Equity (S) = % e ) : 6,40,000
Market Value of Debt (B) - 7,00,000
Total Value of Firm (V) = (8) + (B) ' 15 40,000
: . EBIT 1,50,000
- i x — R |
| Overall Cost of Capital (Ko) v % 100 = 1———’-——3 20.000 100 = 11-2%
Question 3. |
Rs.
EBLT. 2,00,000
0
(—) Interest on Debentures ( 6,00,000 X -1—166) 60,000
Earnings available for equity sharcholders (NI) ' 1,40,000
Capxtahsauon Rate  12:5%
- 0,000 X 00 ’
Market Value of Equity (S) = —Nl 5 01(;05 : = 11,20,000
Market Value of Debt (B) - = 6,00,000
Tota] Value of Firm (V) = (8) + (B) = Rs. 17,2Q,OOO

BB 2,00,000 : -
: ‘Cost ital = : = S ¢ 100 =11:6%
Overall Cqst of Capltfal. T A8 IPO 17,20, ,0










